FHRERHRRETHE FRHR

SHI6EIIAITH N bt 296 500kg
Fx IREHESE 246, 000kg
F&E IRFEMEET | REAE FRiE FEH Fihk Bir |REHRE AR5t %8
(kg) (kg) BiE | hiE | RE

ZWZA 13,000 |EY 0 — -— —
HAxTERS| EFHRE 10kg 13,000 1,620 — 1,296
ICALCA 20,000 (Y 0 — -— S
FExtER S dbimE 10kg 20, 000 -— 2,160 -—
[F< &Ly 23,000 (Y 0 — -— —
HAxTERS| RHE 12kg 23,0001 1,728 -— 1,080
Fy Y 4,000 (&Y 0 — -— S
FExtER S HEE 10kg 4,000 4,320 -— 3,240
F5NAED 6,000 &Y N 200 g 200 — 86 —
HAxTERS| N 200 g 5, 800 130 - 65
RE 9,000 &Y 0 — -— S
FExtER S FAR okg 9,000 -— 2,160 -—
= 3,000 (&Y 0 — -— —
HAxTERS| N 100 g 3,000 S 97 -—
L& R 18,000 |& Y 0 — -— S
FExtER S RTIEE 10kg 18, 000 -— 3,240 -—
oY 5000 (&Y 0 — -— —
HAxTERS| N okg 5,000 -—| 5,400 -—
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$RI6%£115118 RIREHE 296, 500kg
HX RESEAE 246, 000kg
T&E REHEH | TEHE R X A & | B |REHE BR5E&%E
(kg) (kg) =iE H{E ZiE

Lo AL 500 |&Y 0 — — —
X EE| FNC] 150 g 500 173 — 76
AL & 12,000 |[#Y 0 — — —
X ERE| FEE bke 12,000 2,376 —{ 1,620
AZDELT 1,800 &Y 0 _ ___ ___
FAxTERE| RHE 200 g 1,800 97 — 86
HFY—2F R85 0 &Y 0 __ — ___
X ERE| 0 — — —
H=—LA R 1,200 |y 0 — — —
X ERE| £/30 ] 4kg 1,200( 3,240 —{ 2,700
I=k< b 6,000 |&Y 0 — — —
X ERE| B4R 200 g 6, 000 — 216 —
Jawal— 6,000 |[&Y 0 — — —
X EE| FNC] 8kg 6, 000 —| 3,888 —
PELNE 700 &Y 0 — — —
X ERE| BER 4kg 700 —| 4,320 —
A 1,000 |&Y 0 — — —
X EE| FNC] 500 g 1,000 — 194 —
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BIRFTHE 296, 500kg
HX ERFEEHESE 246, 000kg
T&E BREHE | ZEAE L85 FEH = | B |REHE AR5 £ 5E
(kg) (kg) =iE th{E it
ZDHhFFE 50,000 |&73% — 50, 000 - _ —
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BEFNE 296, 500kg
RE MBS 45, 500kg
TRE REMEH | TEAE B8 T = | B |REHE R4
(kg) (kg) =1E B =&

HA 22 000 |&Y I S
A%t B3| LS oke | 22,0000 —| 4860 ——
YA 5,000 |[€Y of — — —
EHERE  [HUsl EHE 10kg 5000 —| 6,480 -
GL—FI—Y 500 |[€Y of — 4 —
A%t B3| F—Z ST 17kg 500 —| 70200 —
N++ 3,000 €Y of — — —
P SERE] J4YEY 13kg 3,000 3,888  —| 3 240
LES 1,000 |&Y o O O =
A%t ER 3| F1) 17kg 1000 —| 7.560 —
L 0 [y of — — —
P SERE] of — - —
= 1,500 |[&Y of — — —
HxERE  |=A MET] 7. Bkg 1.500] 7.560| 6, 480 4 320
Lo 1,000 |&Y of — — —
P SERE] F—ZrS5Y7F 17kg 1,000 —| 9720 «—
KAUT 9T 500 |[€Y of — — —
A%t B3| J4YEY 10kg 500 —| 4320 @ —
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PHCFIIAIIE LR NE 296, 500kg
RE RFCHEAE 45, 500kg
TRE EEMEH | REAE ofE T = | B |BENE AL
(kg) (kg) =iE th{E it
XY T —Y 1,000 |y of — 4 =
A%t ERE| —1—U—5UFR 3. Bke 1.000] —| 2484 @ —
ZDOMEE 10,000 |&Ak - 0000 —  — —
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{AERE M E 296, 500kg
Z Dt REME AR 5, 000kg
FRE REHEH | =BH% oiE FEH = B |BRENE RS &4
(kg) (kg) =iE H{E ZiE
ZDith 5,000 (&A% - 5,000 —_— —_— —_—




